404/Eco. 22-23/31610 2.  The sum of the percent frequencies for all classes

will always equal.
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d) None of the above answers is correct.
Answer any twenty of the following (MCQ): 20x2=40 T Tesfem @FtE 70F 7|
@I I e Tex nie: 3. Which of the following is not a measure of
1.  Which one of these statistics is unaffected by dispersion?
outliers? s @i Rvgacem s 22
GF & (@ ARPRAE SgeFem 7l deiiie w7? a) the variance
a) Mean o™
T b) the 50th percentile
b) Interquartile range TGN AGIGIEe
RICHRACR IR B ¢) the standard deviation
c) Standard deviation s fprfs
s pife d) the interquartile range
d) Range ORGSR {3

i
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4. The sum of deviations of the individual data elements 6. A tabular summary of a set of data showing the

from their mean is fraction of the total number of items in several

SR T (AT 78T (O] Tomiaefey Rpjfen 7

a) always greater than zero

classes is a

fafoq TF (6 SIRGER S @A (COIF G1Hd A=@!

Hl T B TG ARz 9
b) :;;ai];ml}:sc;;a;;em a) Frequency distribution
c) sometimes greater than and sometimes less than i e
zero, depending on the data elements b) Relative frequency distribution
TG TUNE TG QR FIAS TAE W) (AF AR it froge
(TH! Tommaferd Bo fed S | c) Frequency density
d) always equal to zero Tk gy
T AT d) Cumulative frequency distribution
5. If a data set has an even number of observations, the TS & 3 Rroel

median

AW GFH (OB B AN FRAF AEH A, O F OIF 1

7. What are the types of statistical data?
AfRarIsre S g5 5 e

a) cannot be determined

e 1 TE a) Primary and private data
b) is the average value of the two middle items AR 9} JENe w2y

i S SZEE oG A b) Primary and secondary data
c) must be equal to the mean S ) MR O

M A 29 2 .

_ , _ c) Sample and primary data
d) is the average value of the two middle items B

when all items are arranged in ascending order Tl A% &l o=

TG BN B G SIS AGI T2 0 6 N d)  Sample and secondary data

SRGER S W T AR R ©2y
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8.  Since the mode is the most frequently occurring data 9. Refer to Exhibit 1. The class width for this

value, it distribution
WRY (T AR T G o3 02 i+, @S 93 IS T FICE &7
a) can never be larger than the mean a) 1is 9

NT (AF T© 209 AT < b) 1is 10

b) is always larger than the median c) is 1l

TR (2 FE <O d) None of the above answers is correct.

10. Refer to Exhibit 1. The number of students working

c) 1is always larger than the mean
19 hours or less

AP 91T (A AT
FOG TG 5o T I € TN FIG FAZ?

d) None of the above answers is correct

a) is 40

Toiaa Tenaler @Abe AT W b) s 50

Exhibit-1 c) is 90
The following data show the number of hours worked by d) can not be determined without the original data

2 t ts.
00 students 11. Refer to Exhibit 1. The relative frequency of students

famferiee wafl 200 & =@ wEl Sie S CHIE HAAT (T | working 9 hours or less.
Number of Hours Frequency > 9] A O TN FE I AW WA R
0-9 40 a) is 0.2
10 - 19 50 b) is 0.45
20 - 29 70 c) is 40
30 - 39 40 d) can not be determined from the information
given
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12. The measure of dispersion that is influenced most

by extreme values is
fpgareE @i ARl sa e 7l AT oo 27 e
a) the variance
wifsrRn
b) the standard deviation
e fagrfe

c) the range

GIBEE
d) the interquartile range
13. The difference between the largest and the smallest
data values is the
JTe OR FUOH (Uhl Nfera sy oAy =@
a) variance
SERI
b) interquartile range
srgsger ARSI
c) range
GIBEE
d) coefficient of variation
LR CRIMEY]
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14.

15.

16.

17.

Which of the following is not a measure of central

location?

e @At @@ SREIET oA Twe

a) mean (919) b) median (S7=M)

¢) variance (femer) d) mode (T)

The value that has half of the observations above it
and half the observations below it is called the

@ R it SES SR @8 SIS 2RI G
a) range (AfPR) b) median (I

c) mean (97%) d) mode (©)

The most frequently occurring value of a data set is
called the

GF (TB (B AR T T JoI A N T

a) range (°ifF) b) mode (GI©)

c) mean (51%) d) median (J€GT)

If for a distribution difference of first quartile and
median is greater than difference of median and third

quartile then distribution is classified as

Tt IBCTE T @Y SoLicH QIR THFR HA12F NHF 9%
oI T AT R @R =W wrF 3% [F I
T A 22
a) ahsolulc open ended

oo I
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b) positively skewed

—e ~ <
PO]IDPYI(T NP

c) negatively skewed

feapaelE i
d) not skewed at all
GNpe fove w1

18. If beta one is 9, beta two is 11 then coefficient of
skewness is 18.
T R @ » 27, {61 12 3> 23 iz fodaor 726l 2@
a) 0.589 b) 0.689
c) 0.489 d) None of the above

19. Moment about mean which is indication whether
distribution is symmetrical or asymmetrical is
considered as

(TN (IGEG GAies i 31 3o (R @ 9%+ aferrs i

Pl 21 f[icaibe =7
a) first moment b) third moment
c) second moment d) fourth moment

20. Frequency distribution is considered as negatively
skewed if all values of distribution moves to 20.
™ KR @fsaveer fofs 2o K
4 = A Roweels 10w W 92 (K079 M) oo TR
a) lower tail b) median tail
c) variance tail d) upper tail
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21.

If for a distribution difference of first quartile and
median is less than difference of median and third

quartile then distribution is classified as

W eew @RERS q3) FAE 3% Al w1 @R
TR oK ASFT GR T W [ IGAF @ Am
A=A

a) negatively skewed

b) not skewed at all

c) absolute open ended

d) positively skewed

22. The correlation coefficient, is used to determine:
ATl el e a0 TREe =
a) A specific value of the y-variable given a specific
value of the x-variable
X-(CRERER @36 Fie 99 (@@ y-eRiEaEs
alo WS W=
b) A specific value of the x-variable given a specific
value of the y-variable
X-(CREER «Fh [ie 99 y-eReReEm 3
e = (A
c) the strength of the relationship between the x
and y variables
X IR y (SREIAETR & T2F e
d) None of these
(b |
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23.

24.

404/Eco. (11)

Regression modeling is a statistical framework for

developing a mathematical equation that describes

how

fecama el 2o @Il Sifdfoss e Ko &y

G AT I A 9T T e

a) one explanatory and one or more response
variables are related
G IYETS G G 91 @i el cefarme
Ao

b) several explanatory and several response
variables response are related

fa

@ RO RIS @R (@ IR0 afsfe
cefawe afefa F=ifFe

c) one response and one or more explanatory

variables are related
930 AT 9 9 Al GIEF HIETS (SRR
Hoife

d) All of these are correct

CRIGERIENIGRGIPES

In regression analysis, the variable that is being

predicted is the

fecami fResied, @ erfiaeee @fesw w41 &1 et
RG]

a) response, or dependent, variable

b) independent variable

c) intervening variable

d) is usually x
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25. If the correlation coefficient is a positive value, then
the slope of the regression line '
W ST (FIRRPRIGEES G A Lo 22 OiRce feae
T3 G BT (TR 2?2
a) must also be positive
b) can be either negative or positive
c) can be zero
d) can not be zero
26. A least squares regression line of the form y=a+bx
is fitted to the data set below:
@ fateme A1iEs W ©itt Foe I ¢rewl T@E:
X 25 15 10 5
y 10 10 15 | 25
The equation of the line is:
sz s & 2@
a) y=-0.69 + 24.4x
b) y =244 - 0.69x
c) y=244+ 0.69x
d) None of the above
404/Eco. (12)



